ITEM

PART NUMBER

QTY.

vertical guide base assembly pontoon setup

wood bunk uprights 2x2x20

tbar top angle 2x3x8

ubolt .375x2.5x5.5

3/8"x 2 3/4" bolts

1/2" x 3" bolfs

NN O N N M

3/8" nylock nuts

1/2" nylock nuts

steprail pontoon setup angle 2020

5/16" x 2 1/2" carriage bolts

3/8" x 1" bolts (used for vinyl bunks)

5/16" finish nuts

3/8"x 1 1/2" bolts

3/8" flat washers

NIiIMN|O|O| OO N M

Harbor Master Itd

11540 STEPRAIL HARDWARE PONTOON SETUP

3127 HIGHLAND DR. HUDSONVILLE, MI 49426 616-669-3170| PART NO. [

[DATE:5-05-2020




	Sheet1
	Drawing View1


